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A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
-one of them sit at the extreme end of the row. There are .
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does not
sit at the extreme end. There are four persons sit between O
and N. More than three persons sit between M and O.
There are two persons sit between K and R.
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A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does not
sit at the extreme end. There are four persons sit between O
and N. More than three persons sit between M and O.
There are two persons sit between K and R.

How many persons are sitting in the row?

(a) 12

(b) 15

(¢)18

(d) 17

(e) 16



A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does not
sit at the extreme end. There are four persons sit between O
and N. More than three persons sit between M and O.
There are two persons sit between K and R.

How many persons sit between R and C?

(a) None

(b) Four

(¢) Six

(d) Five

(e) Seven



A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does not
sit at the extreme end. There are four persons sit between O
and N. More than three persons sit between M and O.
There are two persons sit between K and R.

What is the position of K with respect to B?

(a) Immediate to the right

(b) 2nd to the left

(¢c) Immediate to the left

(d) 2nd to the right

(e) 3rd to the left



A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does not
sit at the extreme end. There are four persons sit between O
and N. More than three persons sit between M and O.
There are two persons sit between K and R.

The number of persons sit to the left of L is same as the
number of persons sit to the right of _ ?

(a) N

(b) O

(c) C

(d) K

(e) None of these



A certain number of persons are sitting in a row facing to
the north. There is one person sits between N and M and
one of them sit at the extreme end of the row. There are
three persons sit between N and C. L sits 2nd to the left of
C. There are six persons sit between C and B, who sits 3rd
from one of the end. B sits 2nd to the left of R, who does not
sit at the extreme end. There are four persons sit between O
and N. More than three persons sit between M and O.
There are two persons sit between K and R.

If T sits between B and R, then how many persons sit
between T and K?

(a) None

(b) One

(¢c) Two

(d) Three

(e) None of these



Statements:

Only a few Red are Blue.
Only a few Blue is Pink.
All Pink is Yellow.

Conclusions:
I. All Yellow being Blue is a possibility.
II. Some Pink is Red.

a) If only conclusion I follows.

b) If only conclusion II follows.

¢) If either conclusion I or II follows.
d) If neither conclusion I nor II follows.
e) If both conclusions I and II follow.



Statements:

Only a few Lakes are River.
Only a few River are Salty
Some Salty are Water.

Conclusions:
I. All Lakes can never be River.
I1. Some River can never be Salty.

a) If only conclusion I follows.

b) If only conclusion II follows.

¢) If either conclusion I or II follows.
d) If neither conclusion I nor II follows.
e) If both conclusions I and II follow.



Statements:
Only a few Mobile are Belts.
-All Belts are Masks.

Some Masks are Covers.

Conclusions:
I. Some Masks are Belt.
I1. Some Mobile are Covers is a possibility.

a) If only conclusion I follows.

b) If only conclusion II follows.

¢) If either conclusion I or II follows.
d) If neither conclusion I nor II follows.
e) If both conclusions I and II follow.



Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed either
at the top most or bottom most position. Box O is placed
just above to the box N. Box S is placed just below to the
box T. There are two boxes placed between R and S. Not
more than two boxes placed between M and R. More than
three boxes placed between O and P.
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Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed either
at the top most or bottom most position. Box O is placed
just above to the box N. Box S is placed just below to the
box T. There are two boxes placed between R and S. Not
more than two boxes placed between M and R. More than
three boxes placed between O and P.

Which of the following box is placed third from the bottom?
(@A) S

(b) Q

O

(dR

(e) None of these



Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed either
at the top most or bottom most position. Box O is placed
just above to the box N. Box S is placed just below to the
box T. There are two boxes placed between R and S. Not
more than two boxes placed between M and R. More than
three boxes placed between O and P.

How many boxes are placed between O and Q?

(a) None

(b) One

(¢) Four

(d) Two

(e) None of these



Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed either
at the top most or bottom most position. Box O is placed
just above to the box N. Box S is placed just below to the
box T. There are two boxes placed between R and S. Not
more than two boxes placed between M and R. More than
three boxes placed between O and P.

The number of boxes placed between P and S is same as the
number of boxes placed between  and R?
(a) M

(b) Q

() N

(d) T

(e) O



Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed either
at the top most or bottom most position. Box O is placed
just above to the box N. Box S is placed just below to the
box T. There are two boxes placed between R and S. Not
more than two boxes placed between M and R. More than
three boxes placed between O and P.

The number of boxes placed above of the box O is same as
the number of boxes placed below to the box?

(AR

(b) Q

P

dT

(e) None of these



Eight boxes i.e. M, N, O, P, Q, R, S and T are placed one
above the another but not necessarily in the same order.
Three boxes are placed between M and T. M is placed either
at the top most or bottom most position. Box O is placed
just above to the box N. Box S is placed just below to the
box T. There are two boxes placed between R and S. Not
more than two boxes placed between M and R. More than
three boxes placed between O and P.

Four of the following five are alike in a certain way and
hence they form a group. Which one of the following does
not belong to that group?

(aA) M and Q

(b)Pand T

(c)Rand S

(d) Qand O

(e) Nand Q



Statements:
PSQ=R;P2S<USW

C()nclusions:
I.R=S
II. S>R

a) Onlylis True
b) Only Il is True

¢) BothlI and II are True <
d) Noneis True

e) Either I or Il is True



Statements:

B>C2ASUSD;:FSG=L;DSFSL

Conclusions:
| . S &

II.GSA

a) Only Lis true
b) Only Il is true
¢) Either I or 11 is true

d) Both I and II is-true
e) Neither I nor Il is true.



Statements:

USFSGSY;YSR>1<O

C()nclusions:
I.R>U
I. U=R

a) Only I follow

b) Only II follow

¢) Both I and II follow

d) Either I or II follow

e) Neither I nor II follow .



Statements:
P>QSS2T;V=WST

Cbnclusions:
E=P=F

I.S2V

a) Only I follow

b) Only II follow

¢) Both I and II follow
d) Either I or II follow
e) Neither I nor II follow .



Six people A, B, C, D, E, and F eat different chocolates on
six days of week starting from Monday to Saturday but not
-necessarily in the same order. On each day only one person
eats the chocolate. Only three people eat chocolate between
E and the one who eat S-star. E eats before A who eats
Dairy Milk on Thursday. Three people eat chocolate
between the one who eats Kitkat and the one who eats
Snicker. B eats chocolate immediately before the one who
eats Amul. D eats Perk two days before the one who eats
Kitkat. C does not like 5-Star.
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Six people A, B, C, D, E, and F eat different chocolates on
six days of week starting from Monday to Saturday but not
necessarily in the same order. On each day only one person
eats the chocolate. Only three people eat chocolate between
E and the one who eat S-star. E eats before A who eats
Dairy Milk on Thursday. Three people eat chocolate
between the one who eats Kitkat and the one who eats
Snicker. B eats chocolate immediately before the one who
eats Amul. D eats Perk two days before the one who eats
Kitkat. C does not like 5-Star.

Who eats Amul?

a) A
b) B
¢) C
d D
e) E



Six people A, B, C, D, E, and F eat different chocolates on
six days of week starting from Monday to Saturday but not
necessarily in the same order. On each day only one person
eats the chocolate. Only three people eat chocolate between
E and the one who eat S-star. E eats before A who eats
Dairy Milk on Thursday. Three people eat chocolate
between the one who eats Kitkat and the one who eats
Snicker. B eats chocolate immediately before the one who
eats Amul. D eats Perk two days before the one who eats
Kitkat. C does not like 5-Star.

On which day B eats the chocolate?

a) Monday

b) Tuesday

¢) Wednesday
d) Friday

e) Saturday



Six people A, B, C, D, E, and F eat different chocolates on
six days of week starting from Monday to Saturday but not
necessarily in the same order. On each day only one person
eats the chocolate. Only three people eat chocolate between
E and the one who eat S-star. E eats before A who eats
Dairy Milk on Thursday. Three people eat chocolate
between the one who eats Kitkat and the one who eats
Snicker. B eats chocolate immediately before the one who
eats Amul. D eats Perk two days before the one who eats
Kitkat. C does not like 5-Star.

Which of the following combination is correct?

a) A-Thursday-Perk
b) B-Monday-Snicker
¢) C-Friday-5-Star

d) D-Tuesday-Perk

¢) E-Tuesday-Kitkat



Six people A, B, C, D, E, and F eat different chocolates on
six days of week starting from Monday to Saturday but not
necessarily in the same order. On each day only one person
eats the chocolate. Only three people eat chocolate between
E and the one who eat S-star. E eats before A who eats
Dairy Milk on Thursday. Three people eat chocolate
between the one who eats Kitkat and the one who eats
Snicker. B eats chocolate immediately before the one who
eats Amul. D eats Perk two days before the one who eats
Kitkat. C does not like 5-Star.

How many persons eats chocolate before C?

a) One
b) Two
¢) Three
d) Four
e) None



Six people A, B, C, D, E, and F eat different chocolates on
six days of week starting from Monday to Saturday but not
necessarily in the same order. On each day only one person
eats the chocolate. Only three people eat chocolate between
E and the one who eat S-star. E eats before A who eats
Dairy Milk on Thursday. Three people eat chocolate
between the one who eats Kitkat and the one who eats
Snicker. B eats chocolate immediately before the one who
eats Amul. D eats Perk two days before the one who eats
Kitkat. C does not like 5-Star.

Which of the following statement is false?

a) B eats chocolate on Monday

b) D eats Perk

¢) A eats Dairy Milk on Thursday
d) F eats S-star on Friday

e) All are false



In the given word ‘TELEVISION?’ if the vowels are changed
to the next letters and the consonants are changed to the
previous letters as per the alphabetical series, then which .
letter/letters are repeated more than once?

3T T 5% 'TELEVISION' ¥ (g SUTHTET 3hHl o STTHR &

T STl TR T Feet foaT 7w 21 s Y fUoer erert o
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a) PM
b) R,U
¢) S,K
d F,J

e) F,K



There are 9 members in a three generation family i.e.
Anjali, Ram, Shyam, Piyush, Ragini, Himanshu, Neha,
‘Shubham and Aditi. There are three married couples in the
family. There are five male and four female in the family.
Shyam is the brother-in-law of Shubham, who is the
daughter in law of Himanshu. Aditi and Shyam are
unmarried members. Ragini is the grandmother of Shyam.
Ram is the paternal uncle of Neha. Piyush is the maternal
~ grandfather of Neha and father of Aditi. Himanshu is the
brother in law of Aditi.
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There are 9 members in a three generation family i.e.
Anjali, Ram, Shyam, Piyush, Ragini, Himanshu, Neha,
Shubham and Aditi. There are three married couples in the
family. There are five male and four female in the family.
Shyam is the brother-in-law of Shubham, who is the
daughter in law of Himanshu. Aditi and Shyam are
unmarried members. Ragini is the grandmother of Shyam.
Ram is the paternal uncle of Neha. Piyush is the maternal
grandfather of Neha and father of Aditi. Himanshu is the
brother in law of Aditi.

Who is Mother-in-law of Shubham ?

a) Ragini

b) Anjali

¢) Himanshu

d) Aditi

e) None of these



There are 9 members in a three generation family i.e.
Anjali, Ram, Shyam, Piyush, Ragini, Himanshu, Neha,
Shubham and Aditi. There are three married couples in the
family. There are five male and four female in the family.
Shyam is the brother-in-law of Shubham, who is the
daughter in law of Himanshu. Aditi and Shyam are
unmarried members. Ragini is the grandmother of Shyam.
Ram is the paternal uncle of Neha. Piyush is the maternal
grandfather of Neha and father of Aditi. Himanshu is the
brother in law of Aditi.

How Anjali is related to Shyam?

a) Father

b) Sister

¢) Mother

d) Grandmother
e) None of these



There are 9 members in a three generation family i.e.
Anjali, Ram, Shyam, Piyush, Ragini, Himanshu, Neha,
Shubham and Aditi. There are three married couples in the
family. There are five male and four female in the family.
Shyam is the brother-in-law of Shubham, who is the
daughter in law of Himanshu. Aditi and Shyam are
unmarried members. Ragini is the grandmother of Shyam.
Ram is the paternal uncle of Neha. Piyush is the maternal
grandfather of Neha and father of Aditi. Himanshu is the
brother in law of Aditi.

How Himanshu is related to Ragini?

a) Daughter-in-law
b) Son-in-law

¢) Son

d) Daughter

e) None of these



Eight tourists P, Q, R, S, T, U, V, and W sitting around a circular
table, but not necessarily in the same order. Some of them facing the
centre while others-are facing away from the centre. Q faces the
centre and sits third to the right of P. Only one person sits between Q
and S, and S is a neighbour of P. R is facing inside. V is sitting
second right of W. Three people sit between V and S and V is facing
the opposite direction of P. S, W and V are facing the same direction.
Only one person sits between U and T. Both U and T facing the same
direction. T is facing away from the centre. Only one person sits
between T and P, P is facing the opposite direction of T. Risa
neighbour of V and W.
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Eight tourists P, Q, R, S, T, U, V, and W sitting around a circular
table, but not necessarily in the same order. Some of them facing the
centre while others-are facing away from the centre. Q faces the
centre and sits third to the right of P. Only one person sits between Q
and S, and S is a neighbour of P. R is facing inside. V is sitting
second right of W. Three people sit between V and S and V is facing
the opposite direction of P. S, W and V are facing the same direction.
Only one person sits between U and T. Both U and T facing the same
direction. T is facing away from the centre. Only one person sits
between T and P, P is facing the opposite direction of T. R is a
neighbour of V and W.

Who is sitting third to the right of T?

Correct Option - 3

a) U
b) V
¢c) W
d P

e) Q



Eight tourists P, Q, R, S, T, U, V, and W sitting around a circular
table, but not necessarily in the same order. Some of them facing the
centre while others-are facing away from the centre. Q faces the
centre and sits third to the right of P. Only one person sits between Q
and S, and S is a neighbour of P. R is facing inside. V is sitting
second right of W. Three people sit between V and S and V is facing
the opposite direction of P. S, W and V are facing the same direction.
Only one person sits between U and T. Both U and T facing the same
direction. T is facing away from the centre. Only one person sits
between T and P, P is facing the opposite direction of T. R is a
neighbour of V and W.

Who is sitting immediately right of the U?

Correct Option - 1

a) Q
1) I
¢) R
d S

I



Eight tourists P, Q, R, S, T, U, V, and W sitting around a circular
table, but not necessarily in the same order. Some of them facing the
centre while others-are facing away from the centre. Q faces the
centre and sits third to the right of P. Only one person sits between Q
and S, and S is a neighbour of P. R is facing inside. V is sitting
second right of W. Three people sit between V and S and V is facing
the opposite direction of P. S, W and V are facing the same direction.
Only one person sits between U and T. Both U and T facing the same
direction. T is facing away from the centre. Only one person sits
between T and P, P is facing the opposite direction of T. R is a
neighbour of V and W.

What is the position of Q with respective T?

Correct Option - 5

a) Second to the left
b) Second to the right
¢) Third to the left

d) Third to the right
e) immediately left



Eight tourists P, Q, R, S, T, U, V, and W sitting around a circular
table, but not necessarily in the same order. Some of them facing the
centre while others-are facing away from the centre. Q faces the
centre and sits third to the right of P. Only one person sits between Q
and S, and S is a neighbour of P. R is facing inside. V is sitting
second right of W. Three people sit between V and S and V is facing
the opposite direction of P. S, W and V are facing the same direction.
Only one person sits between U and T. Both U and T facing the same
direction. T is facing away from the centre. Only one person sits
between T and P, P is facing the opposite direction of T. R is a
neighbour of V and W.

How many people facing outside?

Correct Option — 4

a)
b)
¢)
d)
e)

SN O AN -



Eight tourists P, Q, R, S, T, U, V, and W sitting around a circular
table, but not necessarily in the same order. Some of them facing the
centre while others-are facing away from the centre. Q faces the
centre and sits third to the right of P. Only one person sits between Q
and S, and S is a neighbour of P. R is facing inside. V is sitting
second right of W. Three people sit between V and S and V is facing
the opposite direction of P. S, W and V are facing the same direction.
Only one person sits between U and T. Both U and T facing the same
direction. T is facing away from the centre. Only one person sits
between T and P, P is facing the opposite direction of T. R is a
neighbour of V and W.

Who is sitting second to the right of P?

Correct Option — 5

a) U
b) V
¢c) W
d S

I
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